STYKLISTE

MODEL 9045N

Side 1

Pos. Art.nr. Betegnelse Stk. Note
001 953106-2 SKRUE TIL TYPESKILT 0,5mm 2
002 862422-0 NAME PLATE 9045N 1
003 911258-5 SKRUE M5X35 4
004 181030-1 KULS/T CB-100 1
005 643600-9 KULDAKSEL 6-10 2
006 652191-9 SCHALTERSCHIEBER 1
008 651656-8 SCHALTER SS203KY-3 1
009 528297-4 FELT (9045N) 1 220V
010 411628-3 FELDABDECKUNG BAFF. PLAT 1
011 162154-2 RING 1
012 154989-5 MOTORGEHAEUSE 1
013  685700-9 SKUMGUMMI 1
014 645253-0 KONDENSATOR 1
015 911265-8 6KANT-SKRUE M5X40 2
016  263002-9 GUMMISTIFT 4 1
017 911116-5 KOMBI-SKRUE M4x12 1
018 665394-6 LEDNING 1
019 682502-4 KABELBESKYTTER 8-85 1
020 687031-2 KABELAFLASTNING (BO4510) 1
021 911133-5 SKRUE M4x18 (BO4510) 2
022 911116-5 KOMBI-SKRUE M4x12 1
023 163123-6 BLOCKIERHEBEL 1
024 156538-4 RAMME 1
INC. 16
025 411624-1 RAMMED/EKSEL 9045N 1
026 225049-1 REM 3X250 1
027 222072-7 RULLE 3-26 (PULL 1
028 321114-5 SPINDEL 1
029 254204-8 KILE NR.4 254204-8 1
030 164496-0 STALBAND (9045N) 2
031 911146-6 PAN HEAD SCREW M4X25 2
032 421155-2 GUMMIBAND 1
033 911158-9 SKRUE M4x30 2
034 411617-8 GREB (9045B) 1
035 263005-3 GUMMISTIFT 6 1
036 315095-3  AFBALANCERINGSKLODS (9045B) 1
037 134645-3 GRUNDPLADE 1
INC. 55,56,58
038 211201-7 KUGLELEJE 6002LLB 1
039 285615-6 KUGLELEJE PLADE 40 1
040 912117-6 SKRUE FLAKO M4Xx12 2
041 912112-6 SKRUE FLAKO M4X10 2
042  411625-9 TRYKKNAP (9045N) 2
INC. 43
043  931102-0 6KANT-M@TRIK M4 2
044 211275-8 KUGLELEJE 6003DDW/(LS1013) 1
045  253792-2 SKIVE 26 4304T 1
046  253930-6 SKIVE 7 1
047  912212-2 SKRUE FLAKO M5X12 1
048 285818-2 LEJEHUS NY (9045N) 1
049 211033-2 KUGLELEJE ### 211031-6 1
050 681613-2 TATNINGSRING 1
051 512673-2  ANKER (9045N) 1 220V
INC. 49,50,52,53
052 241808-5 FAN 70 1
053 211066-7 KUGLELEJE###(211087-9) 1
055 231534-4 FJEDER 4 (9045N) 2
056 256748-4 STIFT 4-50 (9045N) 2
058 165007-4 PAPIRKLEMME (9045N) 2
400 794196-4  ABRASIVE PAPER SET 114X280 1
401  122339-2 ST@VPOSE (9045N) 1




STYKLISTE

Side 2

MODEL 9045N

Pos. Art.nr. Betegnelse Stk. Note
INC. 402
402  411626-7 HOLDER 1

901 819063-3 MAKITA KLAEBEMARKE 1




EKSPLOSIONSTEGNING

Side

MODEL 9045N




